syl 8)l59

O)loddl duwlja

oo i SU Caall
\ Y P ol fadd



& 4

4
rlm l‘
~

¥ C/Q;
NEWKUWAIT

Aoyl 139

l : & éLﬁ' “y ||
L L P R Y1

Cloddl duwlia

Sl Il i€ Al doglgog dwlyad dydl, ¥l dislll

(l_\i:.g)) A.Jl’.".\.g.c e (s A

97 91 390> Ausnid ?.Lc.\.wumg,gﬁ..aa-i
Aol de Nl
»VEE- - )EFR
pTA =T

@.bl.i.ng dyguyidl Gigol &th - syl Byl59d dlbgaa yinilly &5.14."9 hﬂ-ﬁ-’h—” B9
@-M-LU yokad B)b!



pY o Ve LYl dakel
SERREEHU/EERS]
rY'\/\

St el laVl Dl aal i,
Jis s Sdlde £ 35 ket g

pTVE yinrSeu] gguywg . p. p. o House of Education yeles,ilf s
















Sl thnslod) 3 1
S 5—1 b
5 5—2 bl
1 5—3 bl
16 oot s s s s s e e 0 5—4 bl
5—5 bz
7 | O 5—6 O
22 oo see et s e et st e R e R R ennsnn e 5—7 bzl
25 et R AR AR SRR AR AR R AR R b en Loalsd) B 1yl
26 oo see e s s s s st e R e e Rt R 0 B 31 oyl

.
27 6—1 O3
...........................................................................................................................................................
.
30 6—2 0%
...........................................................................................................................................................
° -
32 6 3 O %
........................................................................................................................................................... S nad
° -
34 6—4 O%s
........................................................................................................................................................... UJ-Q-’
“ w“ .
dwd |8 byl
............................................................................................................................................. 4 o) L
38 &3 5 L
........................................................................................................................................................... ASJIE D

ik 5 peall ¢ gladl) siagldl > )

°

QO e s s R AR bbbt 7T—1 O%s
A3 et R SRS RS A R R A R R RS R R T—2 O
AO  ..oooereeeeeese eSS RS A RS RRR R R R SRR 7-3 O
A oo eeeeseee e ses e s st e et s st et s et s et e s e et et et T—4 bz
S s s R AR AR e bRt R bR b aes Ayl dus Iyl



Jles 1 sdaledl S

55 et ss e eAs AR RS S R S A R R RRS A R R R R R e 00 8—1 Uz
00  ooeeeeeeeeee e esss e sss s tss SRR AR eSS RS AR R R R R R R 8—2 Lzl
64 oot R AR R Lald) 3 ) L)

B0 ..o R RS &N 1 o yled



Sdoall b IS

Indefinite Integral
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Integration by Substitution
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Integral of Trigonometric Functions
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Exponential and Logarithmic Functions
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Integration Using Partial Fractions
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